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2t~ 22 +lg(e? - b%) = 2lga +1=0 & BABERT R, R
FENABCHITEAK .,
36, (1) 7§22z + 42 + log 4-n 25 = 0F P M S
SR, SRR,
(2) alyfi{Eiy, Jf2a®-22+2loga2=0% M 3 K
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1. @ ¢ +b6*=7ab (a>0,b>>0)

SHiE: 10g,(a +5) =— (log,a + log,b).

2. abRHE+pr+q=08FMIEHE, Hlgla+d) =
lga +lgb. KpSgZiEmER.
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(1) gV 6 +44/ 2 =6 —4/ 273

(2) gV 3+ 5 +vV 3 V2%

(3) log ,, _nE+2v/2).

4. FEERFAIEA,

« _logy N
(1) logah = logha
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B>0Hbx1);

(2) loga™b" - T’; logab (a>>0, Hax1, >0,
m, niiL¥ED .
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(2) zlex=10z,
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(1) Vvz-vyg=3 €2)43*9¥=27,
gz +1gy =23 \gz +1gy=1-1g5.

7. Ban. V18(3£+2y)’+|'3x‘2y+7| =0,

XK logy, - ,)\/L!zﬂ_mg,
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SRAE « glo8my plogm T, Jlogm— _ 1.
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10. XF s - RFHH: g
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b RIAABCIBEAY » 3 Fllgd ~1ga +1g2 - 1g(1+

1Y, s AqBo=intik.

11, —ANEE 20 A4BHNA R, T—RKALETH
JE. R, BIREHFEESAER, BEAMS, —H
FE ok LR SRS, XNABAMNTRHLE B L 6
T, FEKREHBKRAGED T

BE ® &

—. EPEE, FEGHEH A.B.C.D WHEEK, ¥
TERIHO 75 56 IR B HONIE S



(1) A {Fab =N, WN =logobs
B: Jnfab =N, Mib=logeN;
C: MFab=N(a>0), Mb=1logeN;
D; inab=N(a>0 ax1), Wb=1logeN.
( )
(2) mRlglax 10 MR- 3, M C ).
A; a>0; B, 0<a<10; C.: 1<a<<10; D; a>1.

(3) lgNiEHRa, RBERD, mumﬁm*ga&, 3%
SRR ).

A; afilb; B. —afii-b; C, -fn ;D a-1f11-b6

(1) "Sf;c&log, =log, M - log, N L ity 4 1 &

( ) ..
A: M>0; B; M-N>0; C; M=0,N=0;
D. M>0,N>0,
R |

(1) BA: 1-5%=0, MAJANEERRz=
(2) B%1: 1-3x105=0, FUHMBLRe ___3

(3) FHCHLH, ¥,

(4)ﬁﬁﬁ4_ﬂ,%Mﬂ&%—&

(5) Haiigd W, lgz>1y B, 1g(-2)
<ly W, lgz<2lgs.
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=, AN =a""", Em,

logeMN =log'0M+logaN.
M. A
(1) log,(2+/ 2 X0.25+ 16'2');

(2) 1g12.5-1g%—1g\/ﬁ +lg—;—.

F. &loge8=b,l0og./ 3 =c.
3K, loga0.5,10g01%, logav'6 »
s EHETIER.
(1) lg(a®+3a*+3a+1)-1g(a®~3a*+3a—-1)
RTES
3]ga___1 (a>1);

(2) BWa'+1 +@) _ 4 (4x0).
Ig(v/ a*+1 —-a)

£, (1) BA, lga5lgyt B REME, M Ednd
5
EHh4, > .

(2) aRfEnt, HfEe-22+1g(2a*-a) =04 P
ER LR
N —L WP LSS RAERR T 66%, RFHEER
E—iERRKOE S E(1-g165=2.2175,11105 = 3.0435).

"o 13 e



